Sr Questions Answers Choice

= (i B gl | e ila
et i Ko

) Bin o 38 S

= e s’ B

1 1S 5 a8

70
42
50
30

2 G S8 Jeaid amd K (€ (5508 (KL Gud ) ) g) oK pel eamie A Cudyy

ot e )b S iy
“}fc‘“i‘J}ﬁ‘;‘“lﬂJ
Vs e SOl s iy
(BRI SN PG Ig)

[FIPVPL OSY
|5 g3 (58
1t o A8 Oy
gy o S

3 Juanid 18 (a8 (58 gy s o (20 Sl 223y sy

4 :A@ﬁy\)&i&&ﬂu\éu&s@)ﬁm@

40
50
70
45

5 O S Tt TS S G (58 (S U A pel sanie iy ol S )

= U LS Jleniad Jle pl& ) ghay
B LS (e Jlanind e ol ke
= da LS Jlaiod Jlo pla 5k
= U WS Jlasid (5 ) sk

6 SR B (e s S S g

1000
500

1705
2000

7 = S8 S G S (e 88 0y LS 15100 1S 80 B i S (e )8 (e L0

1850
1820
1900
1750

8 Lo e & 38 e G oS Jlanid € € ()8 5y sk (et (e Ly

= S S (S il

2 s Sl (S Gy
=S Sl (S ) s
s o Sl Iy

9 1 oshale (e e ()8

> DOWr UOWP UOWP DOWr U0W» U0UP 0UOmP» U0W» 00w

o 0358 S el )8 dad ud
=S s
B. 0358 S J8 a8 ()8 aamd il
= En deals
C. 0358 S J5 el )8 vad s
=i dals
D. 35S S i ol ()8 2ad oy
= s dals

10 e S pal paale Ay )

by il K 1S 08
PSRt AT AL kP

RS ETAPATRP R PN (g E
RPN R YU L P

1" ok

. 5000
. 10000
. 5146
. 1000

12 Uy G e ol S ad Bagiae S Guf )8 (e Lid lae S Gl S 2001 s oo

.10

= xS by 5 S Ty 8 ) slaw AL (S (el 58
13

Wr U0 WP OUOWE UOwW

14 2SS s aad IS 1S s i o gene (S U5 a8 )0 C 229



A. = e S GaasS) sl aas)
15 & 8 C. o v e S0 sm il
D. 2w e sane S sl



